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GEOMETRY-Quarterly 1 Review PERIOD:

1) As shown in the diagram below, lines m and n are cut by transversal p.
If m£1 =4x + 14 and m<£2 = 8x + 10, lines m and n are parallel when x equals

Ll 4x+14 +8x+10 = 1§O
2l 12.% + 24 = 180 SWP
4) 17 |2..)(“ | y
2) Which of the following is a notaRIGID 'MOTION of the pre-image?
= = o+t Qongmanr

Pre-Image A) B)

+
g?na |Ler
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3) Translation T maps point (2, 6) to point (4, -1) . What is the image of point (-1, 3) under translati
F\‘gure out RULE & 42, ‘"7) applé-fhﬂ ruie > ( ‘;’Lﬂ ‘

—
4) What is the angle of rotational symmetry for a regular octagon?

)

2l de” 3o 30 o

b} 36° Y - . OL O

) 36° S il ony mu\hp\&A A“fS

_m | P 3
d) 72° Pl

5) ABis reflected to create image A'B'. Which statement is always true7 ahs Br . ”

Paths NOT = Preimag = Image.  P¥€ 0%*-——{'1“5 L ,‘L , .
A AA = B'B (B)AB = A'B’ E{AB A'B B),44' 1 BB’

6) Which of the following is NOT a RIGID MOTION? Y\O'*' con (thACVﬁ"

A) Reflection B) Dilation C) Rotation D) Translation

7) Ateacher finds a paper on the ground in the classroom. When she looks at it carefully she realizes it is from her
geometry class because it has a construction on it. Which of the following constructions is NOT FOUND directly from

this student’s work? ]
ﬁ\ The midpoint of AB B) The perendlcular bisector of 4B X 'dpﬁ‘“+
'
\/C) A perpendicular line to AB @ he angle bisector of ZCAB %
B
8) Which diagram shows the construction of a 45° angle? Xé

i

L construckon>30°

‘hen
% pisector > HS




16. Perform the following constructions (using a straight-edge and a compass|.

rm(AABC)

moke 2 arcs on M from ‘A" (center pt- A)
make “x" from Hose. Wwo arcS

RePert Foe B and C !

\nﬁ&ée w )«;,\).(.V\-‘N6
17. Determine whether the relationships is INSCRIBED or CIRCUMSCRIBED.

a) The triangle is _\V1SCV ) b‘eb\ b) The hexagon is (\ (CU\W\SCYlb&‘ c) The circle is __ { NSCYN &EC‘

Z\) L

add lsub.
28. Given a@determine the missing point.
a) T (xy) > (x- 1, y = 2) A(-1,4) N =2 , 2
b) T (x,y) -==> (x -8,y +1) A(5,1) =3 , 2
OTfoy) > x+ay+d) A=), =By w(3-1) BACLWARDS!

d) T (xy) > (x, y - 2) A (3,-4) BB,




N = mcan(ﬂﬂ
Sﬂnon% 2 e ‘m(l%ﬂ-»

+
9) Which word is NOT synonymous with rigid w Coﬂgr\bvf‘ ‘Ua’ -

B) Identical C) Congruent D) Isometry

10) Solve forx = X 11) Solve for x = | >
CorresoondlM 1S = Same side
\ x50 %V?S— 5X + 4 NErior are
-— 8x - 50 seape PRz 5 B+ Supplemmh%
\ — x=23 [4x+12 =180
14x = 6§
12) Solve for all missing angles LOOK. FOR X= 'Q-
~\Vertica] %S =
- linear Pars Supp-
- p's (%'s add 4o (D)
= Il lines > A it & & V2"
vertical

13. If m£1=62°and m£3 =4x-2, then:

A)x = 15 C)x=31 D) x = 62

aﬂ%\é& ==

PNy N b NP
CHAR Gl )
bk = 4X
14. How many lines of symmetry does the flower have? I ( s 30
A) 1 line of symmetry B) 3 lines of symmetry
@6 lines of symmetry D) 9 lines of symmetry
A B
C D
E F

15. On the ray below construct exactly the length 2 CD — 2AB
¥ o> §o cv
[
L) [ !

¢ ANsweR ’\ ! \ /:

I

v

Méasure + mark D TWICE

w|needle. on last arc., measure and mark AR TWIcE (backwards)
é____—



19. Use a compass and straight edge to construct the following translation.

C
B ~Mmeasure. Vector

- mark Iengm fom all Verfices (C

O.lrfo.dt
done)
- measure from  nihal pt o
‘pre.»\ma%a,er

~slide needle down Vecty

- Male k"

~.8"

:\ o V\‘ pr” ((0‘2.3

.3 =1 B" (£,0)
f B e (9,8

21. Determine the name of the point that meets the given conditions.

a) I"”(A) = B b) }"r(C) 7 7\ m Fl n
gnD=_A arnC D )=8
e) (D) = ;C__ f) r,(E)= _F_

g) f’m(G)=_H_ h)"s(i)= H
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1. SJ}PP\?—NO“J"E% 2. Corregpondiiy = 3. alernale exderior =

Hix+4 7 I1€0 23%-5 220045
= +5 .
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4. ATranslation moves A (-2, 3) to A’(1, -1). What are 5. What are the coordinates of point 4°, the image of point
the coordinates of the image of the point (4, -2) under A(-4, 1) after the composite transformatioh fgg: m Ry

the same translation? apply rule where the origin is the center of rotation? ., (\é X)
=) () S[RD G

A
-y

Y

A
+

6. Which of the following properties is not preserved 7. Which transformation does not preserve orientation?
under a line reflection? \ e , (1) translation __(3) rotation
F \PP d \ (2) dilation \@ ine reflection

a. Distance

(b. Orientation IC-HQY'S r'e\/ﬂ.SQ. \

[}
c. Parallelism ‘

d. Angle measure A ! ) ||Y\€ o ?OL\V SMDP .

9. Solve for x:

8. What is the anggz of rotatnonal symmetry when the 2x +15= IO
sides s
for a regular pentagon? / 3K = '(0?

F 3

B 260 _ 770 o multigls s L
Hofsides B 0+72°

10. Match the construction with the correct geometric term:

a. Parallel lines b. Perpendicular bisector c. Angle bisector



11. The Circle is (‘ W‘C\Am&‘_ri b€d (Inscribed or Circumscribed)

The Triangle is \ V\SC\/\ b@ CI (Inscribed or Circumscribed)

qo0 |§0
i i - P

132 4g

12. In the diagram

If the m<1 = 42° find the m<2.

13. What are the coordinates of A (3, -2) under a rotation o(f 90° centered about the origin? ( 2 a) !

-y,x)

14. What are the coordinates of B(-2, 4) under a rotation of -90° centered about the origin?

Same as 270 (Y ~x) (4,2)

15. Given CD with coordinates C(1,4) and D (3, -1) State the coordinates of C"’D"’, the image of CD under the
composition 7y, _gyxis © T<a—2> [The use of the accompanying grid is optional.]

e o e D
N(d )({ ‘\ dbwn?—’ Q“(5‘ 2) C\\ (" bll“) |
D(7,-3) D" (13)]
—
JamEEE YN
3 d Y
/ \ S
P \ "
/ \
T 7 h'
'




answers

N

mdny diferent

16. Describe a seguenc

other.

vientechon reverses —

(5]

line. reHech

T R e

must include

3-00({5

reflechon Over

wen

:E.Dlrl.lh.l.lrllhllm

Tranglahon Rignt! , down 3

%—mdS

refechon ovey

Translchon down 2.

R s L s

oV éntation

(OVNGLS = lwne Y‘O:(’KQLW

reflechion over X% -axis THEN
Translahon BRGHT | 20P




